Find the area under the curve y = 2y ~ 3% fromx=1toy =2 with 7 = 4 left-endpoint rectangles.

1.
Find the area under the curve y=2x-xrfromxy=1tox=2 using the Trapezoid Rule with
n=4, —
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Find the area under the curve y = 2x - ¥ from x = 1 to x = 2 using the Midpoint Formula with

3. n=4

: s 2

4. Find the area under the curve y = 2v - ¥ from x = 1 to x = 2, g
Find the average value of f{x) = 4x cos % on the interval | 0, \F :
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6. Find the average value of f{x) = 2‘ x{ on the interval [-1, 1]. _’1_

7. Find the length of the curve described by the parametric curve:

Y =cos f and ¥ =sint from f:ﬁ to £ = x
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8. Find the length of the curve described by x = v 2 fromy=2toy=3. ————Lf?
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9. Find the slope of the curve r= 2cos 46.
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10. Find the slope of the curve r=2~3sin6 at (2,7). 3

11, Find the area inside the limacon r= 4+ 2co0s86.

12, Find the area inside r= 2cos# and outside r=1. [ c] ’ 3

13. Find the area inside the lemniscate r* = 6cos 26 and outside the circle r=+3.
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